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Question Number : 1 Question Id : 51714410045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following factors can influence a student's motivation to learn?
% HINY o) ®oToen Qg0 o7 (D8 (Harddo dakaw.

Options:

Genetic makeup
285308 Qoeso

Socioeconomic status

) o Bt @fE ©odl)

Weather conditions

aeentics mBaeen
3. ® C

Political affiliation
oredcdh ehaoto

Question Number : 2 Question Id : 51714410046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

You are a school administrator aiming to improve the institution's learning
environment. What steps could you take to achieve this goal? Select the
most appropriate options.

sy a8 ob E}Uﬁ?”méﬁ@.éoﬁ gy arardlnsn htih Jcired LAY
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Options :

Implement rigid rules without student input.
_— é‘&mﬂgﬂﬁﬁgm Ge 58S Some E65% Dohdred evendaing

Offer a variety of extracurricular activities.

2. D arwegoBss SeEyBEireD [HaarHoHe

Ignore feedback from teachers and students.
Gsargrgdinen, &}m@%}@ ed)arairein ﬁ%aiﬁjgﬁéeiﬁm

Keep the institution's culture unchanged.
0w ﬁeﬁ&@é’] St Dot
4, % . >

Question Number : 3 Question Id : 51714410047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is a primary objective of learner-centered teaching?

ALap3) éo@é&,é 5558 (e 0¥ ©g0 b ?

Options:

Transmitting facts and information to students.

- SPRIETPORD, DETPTPTRR) E}mgﬁ]meéj Hoed

Encouraging rote memorization of concepts.
é@ﬂdﬁnﬁw %ﬁé 38 e (88)Erohe



Fostering critical thinking and independent learning.

- 8o eeP5S 298ols @grgisineid DOoEroBOoHe

Limiting student engagement to assessments only

. Do dairhobeR: Hbohet Sr@ H88hEo Jaine
4.

Question Number : 4 Question Id : 51714410048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the main objective of MOOCs?
MOOCs (S5 oFghdd

Options :

To offer degree programs exclusively online.
BIf seEyESre aSshe® HrEa woliding

1. ®

To provide high-cost specialized courses.
5 % @808 dh @"}5@% arSyEHEne dovtn Saknt

To offer free and open access to a wide range of courses.

DYS %) arEESrod ©otbs & 553%0 EDyohé
3. ¢

To limit access to courses for enrolled students only.

g BT L}’.ﬁﬁ-ﬂ“éﬁ& éﬁ]iﬁﬁ”’mﬁe’a& AAENeVDIY Hom(gsh $HB8heéo Dadne
4. % e

Question Number : 5 Question Id : 51714410049 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0
VWhat does ICT stand for in the context of education?

D5 Howofod ICT B8 HSowofodod ?

Options :

1 % Interactive Classroom Teaching

5 % Integrated Curriculum Training

3 ¢ Information and Communication Technology

. International Computer Tools

Question Number : 6 Question Id : 51714410050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary objective of descriptive research?
DY 508555 sy ©F50 0dh?

Options :

To manipulate variables and establish cause-and-effect relationships

| % Serodon 8y, sele (Hgrd Sowoprd)) Joften

To explore and understand a phenomenon in its natural setting

- el D eznbie (ﬁéﬁéﬁlﬁmm& @35310&, @goé"n}a?é}h



To predict future outcomes based on historical data
. m&@vé&é Heeod eset08° D HDareh ®OoSaracines

To test hypotheses and theories using statistical analysis
Herod DFsies SH@PA HOZeBeD o delololy H08050e

Question Number : 7 Question Id : 51714410051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a central tenet of positivist research philosophy?
émé&é ﬁﬁréﬁdﬁmﬂééﬁ‘@ S0l Hor|$ahd?

Options :

Reality is subjective and can be understood differently by different individuals.

TIDES diSDHHE DAY o DY Sstene ©BosTHS)D
1. %

Research findings are shaped by personal biases and opinions.
5888 D s58ne ;’:ué%vaﬁ@eﬁﬁ, ©f|aroires® SndiF.

2. ®
Research should focus on understanding the underlying meanings and
interpretations of participants.
i\“eﬁ{fﬂ 0 ©0SBED @, DHBeo ©5o SBoee® $68%5%
a1 erd.

3. %

Knowledge can be acquired through objective observation and measurement.
N gars 58808&", BPeds PR HoartodHb.
4.



Question Number : 8 Question Id : 51714410052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is the purpose of the literature review in the research process?
50855 (HBHS® Kol ‘ef:ihé ﬁé%ﬁpﬂb 7

Options :

To collect primary data from participants
S arBi0s [REnY Barod WESH

1. %

To summarize the research findings

. 568 PDared Holiirohe
2. %

To identify gaps in existing knowledge and establish a theoretical framework
Bl a;?»’aoefiﬁ ©odoroih 10807, dEpod ErHSe)d Ealelvilolaletnyliy
3.«

To draw conclusions and make recommendations

SohoHer B0 LrSden Tk
4. %

Question Number : 9 Question Id : 51714410053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The abstract in a thesis typically:
ErHE 56805 a7 DoisTesin



Options :

Contains detailed descriptions of all research methods
@) 56885 étééam Do DdBesdweny BOHA Gotrow

Is placed at the end of the thesis
Qo8 oo DHY BB

Summarizes the main points of the thesis in a concise manner

3 ¢ QEPOB® ag0eY) Bgy DRATED B08% BrHos Holirdnod.

Lists all the references used in the thesis
E}E};DE@ m@é&’méﬁ SDArA0DN el SolDbodoih erder 3@0&.
4. %

Question Number : 10 Question Id : 51714410054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Plagiarism in research refers to:
50855568 (508 FEgEm @b

Options :

Collecting data from multiple sources to ensure accuracy

1% geeiniD FrPothHt 20d HShe Hol Sarod el

Properly citing and referencing sources used in the research

, % DOEFES &XAEACDD S5 Horr ©HTPoD Hadolhe



Using others' ideas, words, or work without giving proper credit
08 HBGH FBHo andome adthe e’ Skom, Srbem, H0 SHBPR0DHE

Sharing research findings with the public
508587 HDerod [Heed® HoHE e

4. %
Sub-Section Number : 2
Sub-Section Id : 517144410
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714410055 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
K508 (Botl sl Sirarbo egrdore Q. 11506 Q 15 REEH Jirgrree (Frdbod.

Some of my critics have said, “Oh, he is a good observer, but he has no power of

reasoning!” | do not think that this can be true, for my ‘Origin of Species’ is one long
argument from the beginning to the end, and it has convinced not a few able men. No one
could have written it without having some power of reasoning. | have a fair share of
invention, and of common sense or judgment, such as every fairly successful lawyer or
doctor must have, but not, | believe, in any higher degree. On the favourable side of the
balance, | think that | am superior to the common run of men in noticing things which easily
escape attention, and in observing them carefully. My industry has been nearly as great as
it could have been in the observation and collection of facts. What is far more important, my

love of natural science has been steady and ardent.

> &é}tﬁgé}@éﬁ Eolith aer e, .50, odH S0 H0d0di, b wg a8 48
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Sub questions

Question Number : 11 Question Id : 51714410056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Critics condemned the author for want of
336’336%53@ BSonéssn DHGHHnS® Ho&oTet.




Options :

common sense
aoﬁei’éagéo

reasoning

> o @ﬁ@gféo

communication skills
e @°R Ja)Esg0

creativity
4 % et

Question Number : 12 Question Id : 51714410057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The above excerpt is taken from the autobiography of
2 arorodo S S0l BHEa8od

Options :

Charles Darwin
1« T80 8

Erasmus Darwin

- QJUDKJ@‘E m&&E



Alfred Russel Wallace
sEE Syd =8

Charles Lyell.
80 HAhS
4.

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 13 Question Id : 51714410058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The author feels that successful lawyers and doctors are
Deschidoshd argaharthen HHBain Jthgen @) Soné erdarh.

Options:

generous
STPERETE)ED

observers
. $bdeten

industrious
(¥ dshen

decision makers
o8 e B’Jgdﬁao POV Evie)



Question Number : 14 Question Id : 51714410059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The author's inclination for compiling facts, reflects his
srdarei Hofedo Jahiios® BKons aing) i), @8 0 (288080

Options :

Diligence
é@éé Sezeedy
1.¢

Reasoning
> % B°B)Fo

decision making
Neleurls B3 S

motivation

4. % @:‘ Bes

Question Number : 15 Question Id : 51714410060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The synonym for the word-"ardent" is
VSV 03 S8 ESlepNov il

Options :



insubstantial
©302E50R

impatience
®EPR0

eager
5@3?&30

frail
DOAPHDH
4. %

Sub-Section Number : 3
Sub-Section Id : 517144411
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 16 Question Id : 51714410061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

communication helps in remembering details of earlier
conversations and interactions.
éﬁn&ﬁl‘éﬁE S Dogragsen pBAin HBGE St DdHTeeiD

$HB0HE K0S BiBahnhdod

Options :

retentive
1« W06 8



reliable
é@éﬁﬁﬁ?ﬁ

inquisitive

B
=

consistent
é’%ti;_aé

Question Number : 17 Question Id : 51714410062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

provided by teacher in the classroom helps in building students’

confidence.
818 Kot ﬁ@vmj@ﬁmm ©0H0DH 3]5256[%@ 5’)@5505{,& 2ogrobodos®

RaraDRtnEob
Options :

assignment
© Qo5

positive feedback

5 rrnde S)lelaty

lecture

S anéﬁo
3. %



negative feedback
HgBOEDS )0

Question Number : 18 Question Id : 51714410063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Effective communication across cultural boundaries relies heavily on maintaining
attitude.

SerdBodP wodtoyd Sogrdie & Jpbl EdrAoStonp JEySP
el Sotnoh.

Options :

negative
1 % ©8Ere

positive
2. :%Déjéjnfj

indifferent
Sedhd

aggressive
[nv=vlay)

Question Number : 19 Question Id : 51714410064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No
Correct Marks : 2 Wrong Marks : 0

Lack of clarity and coherence in providing information, is an example of
barrier.
Hararoe) ©0B0S5E0S Has Hbasn srobE BESEHE0

&v%o%g SO

Options :

organizational
éoéjﬁ}vﬁeﬁ

psychological
SrHhE

emotional
@ﬂﬁ%ﬂgﬁ

semantic
©B5080HHN

Question Number : 20 Question Id : 51714410065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The usage of mobile phones for many functions like : to talk , to watch movies, to
send emails is an example of

Sreptitro, HOSTen Sridio, aanen Hodo Hod eI Nihe %50
Snds §88e TN 8 &mrirdes

Options :

1.



media convergence
egigEn Eeoons

out-door media
@erBol 3rgksno

transit media
BSareae Eﬁjﬁiﬁgeﬁm

traditional media

4w Aro(Rmred EregEno

Question Number : 21 Question Id : 51714410066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

10, 14, 22, 38, 70, ____
Options :
1 % 130

5 v 134

138

« 140



Question Number : 22 Question Id : 51714410067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

XTV, UQS, RNP, OKM,

Options :

HLJ

1. #

JHL

HIL

LHI

Question Number : 23 Question Id : 51714410068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In a certan code language if the word LOCAL is coded as MPDBM. then which word 1s
coded as DBMMEFS ?

2.8 D03 §& 2265 LOCAL 0 3¢90 MPDBM 1P §& Toha &8, o) H¢0
DBMMFS T §G BoHa306?



Options :

CARROT
%

CODING

3 ¢ CALLER

CARING
4, =

Question Number : 24 Question Id : 51714410069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Two numbers are 1n the ratio 9:11. If 6 1s added to the first and subtracted from the second.
the ratio reverses, Then the first number 15

BOCH SoWEeD 0:11 AW’ &ary o, Fesed 8 6 £'GosaB, OGS
0E BT, AN 855 900, 95100 e dows

Options :

1. % 18

3 % 30

4 % 45



Question Number : 25 Question Id : 51714410070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

A loss of 12% 1s mcurred by selling an article for Rs. 132, Its cost price (in Rs. ) 1s
2,8 33606900 577132 § 9507080 T 5T 12% a0 36008, A &Y
Options :

1@ 150

5 % 120

3 % 88

176

Question Number : 26 Question Id : 51714410071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Statements:

No building is wall.
Some walls are rooms.
All buildings are rocks.

EARTATHIDNVE

o) B335 e 5Ch.
& fFcsen coew.
29O U°%.
Conclusions:

l. No building is room.

. Some rooms are buildings -
1. Some rocks which are not buildings being walls is possibility.

ST e

. & 256309300 (1O S°¢0 |

1. ) chen ZPHdmrew .

1. 255aren 52 ) Zered FenTT 03 @I55740 God.

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

1 [l follows

5 Either | or |l follows

3 | and Il follow

4 Il and either | or |l follow.

Question Number : 27 Question Id : 51714410072 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In a class of 95 students, 40 play cricket, 50 play foothall and 10 play both cricket
and football. How many students play only football?

95 SD0O DD SEHBES’, 40 HOE (83 ecter, 50 D08 HE &S
e33R 0D 10 :H0A (8365 HOAM HE &S BoROE3N escheh. Doeh
0B Jesden Y& S Sredad escsErid?

Options:

1. % 45

Question Number : 28 Question Id : 51714410073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

How 1s my father’s daughter’s mother’s only daughter-mn-law related to my wife’s son ?

T $0|8 5D $9 JBE &en o Rl E%%E derod grotiso DA &ob ?

Options :

- Mother



> % Father

3 % Brother

Sister

Question Number : 29 Question Id : 51714410074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The distinetion between laukika and alaukika 1s made with reference to which one of the
following pramanas *?

T8 SO0 e96T°8E 38 03 5EPe0 &2 1808 a3 &) 1NIPEPQE
Ho0HOD BALBOE?

Options:

1 % Anumana (Inference)

Upamana (Comparison)

3 ¢ Pratyaksa (Perception)

S'abda (Verbal testimony)
4, %

Question Number : 30 Question Id : 51714410075 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 15 signified by the term ‘hetu’ in the process of anumana
(inference) m classical Indian School of Logic?

25 204008 7S 69 €728 ¢S wdErd (ATE6) (HE0HES rey ©F
TR, 82806 FES DO ArDN0H?

Options :

Example Provided

&t @wobodaliod
1. =

Statement of reason
v 5e8e30 GBNY) (DD

Proposition to be proved
QBHoSHOND (HBarED

Conclusion Proved

4 % Aoy Ahdosadob

Sub-Section Number : 4
Sub-Section Id : 517144412
Question Shuffling Allowed : No
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HaDRE: 80C) o) 50830 Aadrerd0 esirdorr Q. 31 Ah0G Q. 35 (34 O
QAP |FON0A.
Six different companies A, B, C, D, E and F manufactures a similar product . the

costs of raw material, labour cost and overheads per unit are given in the following
Multiple bar chart,

A.B,C,D,E 50050 F e es8 30565 0000 2,3 DR 565180
SO TN, SNAANE DL, B DA SO CLFAEH LD TGN
806 25508 o8 RS e T

Companies Manufacturing Costs

35 10
30 15 25
5 20 20 20 20
E 20 15 15§ 15 15 15
o 13 100 10 10 10 '
5 | |
. W | |§ i i
A B C D E F
Companies

B Raw material cost  @Llabourcost B Over heads

Sub questions

Question Number : 31 Question Id : 51714410077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

Which of the companies has the maximum cost per unit?

2 020 CRAFIEE 10 38 EDR &0H?
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If company B produces 5,000 units and sells them at Rs. 68, then the profit of the
companyis __

500 B, 5,000 COHIRNE) &6 )18 TR Ardéd db &F. 68, @, @)t
50 ePF0 _

Options:

Rs. 1,65,000
1. %

Rs. 1,40,000
2. %

Rs. 1,15.000
L

Rs. 1,55,000
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Which of the following statements is true?
808 DELINOS DA N2BO?
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The labour costs, of E and F are same.
E 00050 F &BwE) B0 PEH)en 2,367 Gotrow.

The ratio of costs, Overheads and [abour is same for A, B and E.
D)W, L35 TIGEEN SHBCW S5 AAIB A, B SO0 Eerdy
5 % QTR0 G0N0D.

The ratio of total cost of A and that of D is same as the ratio of total cost of E
and that of F

A 20050 D G308y IS0 G T30E) A1) E HBOH F 33nE) Jwedo
¢ T30S NN)BE DTS G0N0

Labour cost of E 1s less then labour cost of F
E #26 so F Grale) 5o Bam) 895
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Company D can produce a maximum of 1000 units per day and company F can
produce upto 800 units per day. If these companies sell their products at Rs 60 and
Rs 80 respectively, then what percentage of D's profit is F's profit in the total
maximum production of 10 days?

$0720 D 8228 (63001 1000 COrAEN b 18 ToHE SHOAD §0DA F
G235 800 CUTRIE) SG5) &ed)8 TODHOD. & 0D 3 651D
SN G 60 HOCKH ¢r. 808 DR, 10 Fare (05 G5B, F hody
7250 ¢’ D Ts) eSO D06 TS0 ?
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1« 15: 16

2%,3:4
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If after a few changes in the production process, the labour costs of B and C
become equal, then what will be the ratio of the total cost of the companies?

56518 |DEANS ER) SPSIO ST 265, B SHOOK C B Sad S jen
DSTAOTT S70S, S0DL FNB0 HED.) V) J0eh G0N0 ?
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VIRUS stands for ?
38R i
Options :
Very Important Record User Searched

5 » Verified Interchanged Result Under Source

3 % Very Important Resource Under Search



4 Vital Information Resource Under Siege
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The term Internet means ........
aoé;@&éﬁ @&
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1« Interconnected Network

5 % International Network

Interactive Network
3_ W

“ Internal Network
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SWAYAM platform was developed by Ministry of Education, |IT Madras and ........
Jxabo J0EH @&Jéﬂj&m A ergio@es ag, @.0.8 Do, HOdD.....
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NPTEL
1.¢

, % NCERT

5« UGC

Both A and B
A s0Bcdin B Tosd
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What is the full form of USB as used in computer-related activities?
BoIgerbs Hoaofodd E“Eﬁé{_ée'ﬁ}t'ﬁ)ﬁﬁ SDAPHODD 0. )R8

8 Tesno
Options :

Universal Security Block
1. %

Universal Serial Bus
2.

United Serial Bus



Mone of the above

230 =D
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........ s a type of memory circuitry that holds the computer's start-up routine.

Eosrgtat Erigefor] B85 éémmg"ﬂ @;Eﬁé 38, DH3nd B
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RAM

1. %

ROM

RIM

4w Cache Memory
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In which year did the word ‘sustainable development’ come into existence?
DesE @5355@%’ o) HoHHBo TeHEES08 DN0E?

Options :

|y 1992

1978

1980

4 1987
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The tropical region lays between ...... Nt o s
éshotie (ghodsn .....0s Dod......... 05 S0gsy Gsotnod
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40, 40



Question Number : 43 Question Id : 51714410089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

What is the total percentage of nitrogen gas in the air?
O’ J(¢5P:i arasngd Smwdo FEo dod ?
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12 per cent
12 3o

21per cent
21 3o

78 per cent
3 ¢ 8 @80

87 per cent

4% 87 3o
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Which of the following processes explains the working of a geothermal power plant?
6103 o @Bah ﬁ(ﬂﬁ@@é&g S5t arotw D&% 6006

Options :

use of potential energy to produce electricity

. DgHE SSBIH Sogray 88 DA
1.

use of thermal energy to produce electricity

L o OE5HB SSSSH 658 DGRKO

use of kinetic energy to produce electricity
DEFHE S8 B Hes~E)s S AVDrro

use of tidal energy to produce electricity

DghHE SIS weoo & DI@rHo
4. % w =l -
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Kyoto Protocol (1997) was related to.......
1997 8%¢5° (28¢5°sed 58 Hom0oBOIHB

Options :

Protection of Ozone Layer

| x LES 5 SBodb

Reduction in Green House Gas emissions

NS e ardin STPTRORD &R0
2\,{.-’ w8 0 0



Conservation of Biodiversity

5 x DETBHES BB

Limiting the rise in global temperature
5503 FBHEE SHhded H8vEo Dine
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Which was a famous Cultural and Educational Center of Northern University

in ancient India

@08 588 &85 D& Dosechi) B lajstam SPoiysE &}mﬂééo@ﬁﬁj&
Options :

Takhyasila

“ Bikramshila

Valabi University
3. %

MNalanda
4.+
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Educational TV was first introduced in India in the year......
3080568 BB dorg 8.3 {g'.f:-ﬂé?a@;_eé RouEéBo

Options :

1961

1. %

5> 1959

5 « 1968

4 % 1965
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Which of the following is an example of non-conventional learning programme in
India?
50805 Srolimeahii g5 SeBEKNE eordrlns

Options :

Information Technology
DEPTEE FoBHES



Dentistry

el F3lalta vy
2. %

Journalism
. | EECHED

Hotel Management

Fovil o) thig'.jﬂaa
4, &
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Every system of education is based on?
58 g éﬁé@ EB?J_ZE et Sod

Options :

|deology of nation

| 0% arderedn

Social development
- dﬂ@@?i}é&%

Intellectual development

SR



Skill development
SR8
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CLASS stands for
CLASS e&me

Options:

Complete Literacy and Studies in Schools

1. #
5 % Computer Literates and Students in Schools
- Computer Literacy and Studies in Schools

Centre for Literacy and Studies in Schools
4. %
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The divergence of the vector field F = 4xi+3xy’j+xyz’k at the point (2. 2. 1) is
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1 % 80

. 50
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If x and y are two complex numbers. then which of the following 1s true?

Options :

x +y|=Ix|+lyl and [x - y| = [x] - ly]

1.

X+ 2 x|+ [yl and [x - Y| < |x] - Iy
2. #®

Ix +y| <I|x|+|y] and |x - ¥| = |%] - |¥]|
3.9

x +y| = x|+ [y] and |x - y| = [x] - |y]
4. %
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The general heat conduction equation which gives the temperature
distribution conduction heat flow m an 1sotropic solid reduce to Laplace
equation when the body 1s in

Options:

unsteady-state with heat generation
1. #



steady-state with heat generation

unsteady-state with no heat generation

steady-state with no heat generation
4. &
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The order of convergence of the Newton-Raphson method 1s

Options:

0

I
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If ‘n’ 1s the number of trials and ‘p’ 1s the probability of success mn a
Binomuial distribution. then the mean value 1s given by

Options :

3.v 1P

n/p
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The value of J... J 1s a Bessel function. is

Options :

V(2m/X) sin X
1. =

5 o V(2/1x) sin X



V(2/nx) cos x
3. %

V(2x/m) sin X
4. %
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The central limit theorem states that the sample size
Options:

increases sampling distribution must approach normal distribution

decreases then the sample distribution must approach normal distribution

increases then the sampling distribution much approach an exponential
distribution

decreases then the sampling distribution much approach an exponential
distribution
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Which of the following function f(x). of complex variable. is not analytic at
all the points of the complex plane?

Options :

1w fx)=¢

5 % f(x) =sin x

f(x) =cos x
3, *®

f(x)=log x
4. &
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The functions in Green’s theorem are mathematically
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Continuous derivatives

Discrete denvatives



3 Continuous partial derivatives

Discrete partial derivatives
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The final corrector of the fourth-order Runge-Kutta method uses

Options :

1 % Midpoimt rule

Backward Euler method
2 . w

Trapezoidal rule

Simpson’s rule
4. &
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The number of intervals in the Simpson’s *4™ rule must be

Options:

1 % odd

even

3 % Multiples of 3

4 % multiples of 6
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The Lagrange’s mterpolation method can be used for
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unequal intervals only

equal intervals only

3 both equal and unequal intervals



none of these
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The most unstable average is
Options :

gE‘OH]ETI’iC mean

mean

3 @ mode

4 » median
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If the force applied to a body 1s doubled and the mass 1s cut in half. then the
accelerations’ ratio?



Options :

12
1_%5

o IR T
2. % =~ . /2

L«
3.%5.’_-.—
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The mass of a body 1s 2 kg. and it 1s moving on a horizontal surface with a
velocity of 4 m/s. but comes to rest after 2 seconds. If one wants the body to
move with the same initial velocity. the force to be applied to it 1s

Options :

8N



0N

Question Number : 66 Question Id : 51714410112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

If P. Q. and R be the functions of phase space variables of coordinates and
momenta of a mechanical system, then the value of

{P. {Q.R}} - {{P.Q}.R} 1is given by
here { . } represents the Poisson’s bracket.

Options :

., URPLQ)

5, x (QAR.P}}

{P. {R.Q};

3. %
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The hours hand of a clock has how many degrees of freedom?

Options:

2
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The D” Alembert Principle and Principle of virtual work
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1 = both are same

, x one exists and other one never

one 1s for motion and other 1s for rest



none of these
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The dynamics of a particle governed by the Lagrangian L = ¥4 m#2 - ¥ kx?
describes

Options :

1 % a free particle

> % adamped harmonic oscillator

an undamped harmonic oscillator with a time dependent frequency
3. #®

an undamped simple harmonic oscillator
4. &
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When an elevator 1s stationary. a coin dropped from height 'h” reaches the
floor in time t; and 1if elevator is moving uniformly the same coin is dropped
from the same height reaches floor in time t,, then which of the following is
correct?

Options :
t1 = 12
1. %
g & USD
=D
3. ¢

t; < tyor t; > t; depending on whether the lift 1s going up or down
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The Poisson bracket {x. a px—v pz+ b z?} is equal to
where a and b are constants.

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :



Px
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The relation between phase velocity, . and group velocity, ve, 13

Options :
du
Ve = U+ K
i dk
1.4
du
UH=Ve+ £k
2. % = dk
du
Ve =U-k—
3 % dk
du



Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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If the kinetic energy of a particle is equal to its rest energy, then the speed of
it is

Options :

0

2cf3

— L
2
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If I; = I # 1. then the body 1s called top.

Options :

asymmetrical

y o 5 mmetrical

spherical

4. % none of these
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The rank of moment of inertia 1s
Options :

| w Z8I0

one

three
4. ®
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To contract the length of a rod to 95% of its original length, the speed of the
rod relative to an observer is
Where c 15 the speed of the light?

Options:

0.1c

Question Number : 77 Question Id : 51714410123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The electric field and magnetic fields associated with magnetic vector
potential are



Options :

a3
E=%% A andHB=- =
_— at
134
E_-;E ﬂlldH:vXA
2. % '
a3
E=-£—A andH=V . A
3 % c ot
d
E=V -A andHZ-—A
dt
4. ®
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If the two thin parallel wires carrying currents in opposite direction. then the
force experienced by one due to other 1s

Options :

Zero

Parallel to the lines



Perpendicular to the lines and attractive

4 Perpendicular to the lines and repulsive
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If the speed of the electromagnetic wave in the mediumis 1.5 x 101 m/s
then the refractive index of a medium is (Take the speed of the
electromagnetic wave in free space as 3 x 101 m/s)

Options :

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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If a plane wave in the free space 1s normally mncident on an mfinitely thick
dielectric slab having dielectric constant 9 then the magnitude of the
reflection coefficient 1s

Options :
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The following two parameters are same in conductors

Options :

| % Skin depth and phase constant



Skin depth and wavelength

3 % Attenuation constant and skin depth

Phase and attenuation constant
4, &
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The following condition always holds good in a wave guide

Options:

| % group velocity 1s equal to light velocity

phase velocity 1s equal to light velocity

- phase velocity 1s greater than light velocity

phase velocity 1s less than light velocity
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In a collision less plasma. when the radio frequency is equal to the plasma
frequency. the displacement current due to electromagnetic wave is

Options:

equal to conduction current
1. %

equal and opposite to the conduction current
2. ¢

equal to eddy currents

the product of conduction current and vacuum permifttivity
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The wavelength of electromagnetic waves produced by the charged
oscillator, which oscillates about its mean position with a frequency of 300
MHz. 1s

Options:

1.« 1lm



> % 3m

10m

4 % 100 m

Question Number : 85 Question Id : 51714410131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

One of the Lienard-Wiechert Potentials 1s

Options :

W= 2

dmey r—rv/c

1.4

1 r—rwv/c

V(r, ) =

2 ® 41meg q

Ve, =2

4mwey 1-rw/c

V(r. t) = ——2

dmey r— v/
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Match the following
A: Stern-Gerlach experiment
B: Davisson-Germer experiment

C: Frank-Hertz experiment
D: Zeeman effect

Options :

A-3.B-2.C-4,D-1

« A-3.B-4. C-1,D-2

o A-3.B-1,C-2, D4

A-2.B-3.C-4, D-1

[E—

[

L]

=

: Wave nature of electrons

: Quantization of energy of electrons
in the atoms

: Existence of electron spin

: Space quantization of angular
Momentum
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If the perturbation energy is proportional to x° then the first order
perturbation energy for a perturbed harmonic oscillator 1s

Options :

1« ZEI0

2. % - he

, —const. nhm

(n + %) ho
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If the life time of a state of an atom is 2 x 107 sec then the uncertainty in its
energy
(given h = 6.63%107* Joule-sec)

Options :

3Ix 1016 eV

1. %

5 1.6x10MeV

0x 1071



0x 100y
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The commutator [Ly. py] =
Where Ly and py are the angular and linear momentum operators of a
particle?

Options :

—1/1p,

1py

1/1pz
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By coupling three p electrons. the total angular momentum states are
Options :

27
(R
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The relation between magnetic dipole moment. . and vector angular
momentum, L, 1s

Options :
I‘l —=rl i
1 %% m
p=-
2.« 2m
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According to first Born approximation. the scattering amplitude
Options :
depends on the momentum transfer only and not on the mnitial momentum

1.4

depends on the initial momentum and not on the momentum transfer

does not depend on the mnitial momentum and momentum transfer

depends on both initial momentum and momentum transfer
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In the scattering theory. the optical theorem relates the total scattering cross-
section fo the scattering amplitude

Options:

imaginary part of the forward
1.4

> % real part of the forward

3 % Ieal and imaginary parts of forward

real part of the backward
4. %
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In the time dependent perturbation theory. the first order transition
amplitude. af(t), is

Options :
1 1 i ' ' i(kx—w ;g r A
af(t) = — [, Hpu(t) eilkx—wpit’) g

1. %

1 [ Sgeree f : e ]
. af!(t) :Efn H (t") e'*rit dt



af!(t) Z%f; Hei (") PLL A

E

af:h(t) = J‘ﬂt H}ii (tr) ei{kx—m}rit’:}dt;
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The commutator [o.0,. oy] =

Where a’s are Dirac matrices?

Options :

20

20
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Major predictions of the Dirac theory of the spin ¥ particle 1s
Options:

lllﬂgllﬁ“fiﬂ moiment
1. ®

5> % Spin orbit interaction

3 % concept of hole

" all of these
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In the Hydrogen spectra. the wavelength (in nanometers) of the spectral line
of Balmer series forn=3 1s
(Rydberg constant R=1.1x 10’ m™)

Options :

685
1.4



2. % 485

285
3. %
4 % 185
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The emitter coupled multivibrator 1s designed so that its hysteresis is
negligible. The circuit 1s referred as

Options :

1.« square wave generator

saw tooth wave generator

tl’iﬂllglllﬂl‘ wave generator

rectan glll ar wave generator
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Transistor 1s a device.

Options :

voltage-controlled

> = resistance controlled

3 % 1nput controlled

current controlled
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One of the properties of an ideal OPAMP is

Options :

Infinite output impedance

Zero input impedance



5 « Zero open loop gain

None of these
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In A/D converter. the sampling period T should be the
duration of sample mode and hold mode

Options :

equal to

, % smaller than

larger than
v

4 % Smaller than or equals to
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An a.c. signal conditioning system is used for

Options:

Capacitive transducers

5 % Plezoelectric transducers

3 # Resistive transducers

Tﬁlll]) erature transducers
4. %
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Number of flip-flops in a flag register of 8085 microprocessor

Options :

._1_



10
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A microcontroller should at least consist of the following
Options:

RAM, ROM. I/O ports and timers

CPU, RAM, ROM

3 » CPU.RAM. ROM. IO ports and timers

CPU. ROM. IO ports and timers
4. %
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IfA=3.56+0.05and B=23.25 +04. the value of A+ B



Options :

6.09=<A+B=6281
1.4

6.72<A+B<6.90
2.

v 6.81<A+B<6.90

6.71<A+B<6.91
4. &

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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The best definition of precision 1s

Options :

1. % The accuracy of a measurement

how close a value is to the true value technique is
w

a measure of the reproducibility of a result
3. ¥



a measure of how good an expt.
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The distribution used for testing a hypothesis is
Options:

Normal Distribution
1.

Chi-Squared Distribution

2. %

Gamma Distribution

Poisson Distribution
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A device that transforms one form of energy to another 1s called

Options :

1 % lransformer

Transducer
2. %

3 % lransistor

4. % diode
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During Bose-Einstein condensation all the atoms fall back to the
Options :

| % Highest Exited state
First exited state

Ground state
v

none of these
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The Gibb’s function G =H - TS. in thermodynamics, in an 1sothermal,
1sobaric and reversable process

Options :

1S ZEero

linearly varies

non-linearly varies

v remains constant but not zero
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The incorrect thermodynamic Maxwell relation 1s

Options :



(¢T/cv)s= (p/cs)y

(€T/cp)s= (cv/es),

2. %

(ép/cT)y= (cs/cv)r
3_ F
4« (EV/ET)=-(és/ép)r
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The relation between thermodynamic probability and entropy 1s

Options:

thermodynamic probability does not depend on entropy

thermodynamic probability decreases with entropy

thermodynamic probability increases with entropy

none of the above
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Canonical ensemble 1s related to
Options:

degrees of the freedom of the system

number of particles in the system

thermal equilibrium of the system

size of the system
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The number of photons emitted per second by the 100-watt bulb which emits
monochromatic light of wavelength 400 nm (given h = 6.623 x 1074 J-Sec)

Options:



i) e
2x 108!

2x10%g1

2 x 10041

4x10105
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Which of the following statement is true?
Options :

If AH and AS are positive, then the reaction is spontaneous at low
| » temperature

If AH and AS are both negative then the reaction is spontaneous at high
> % temperature

If AH 1s positive and AS 1s negative. then AG will always be positive: the
reaction 1s non-spontaneous and exergonic



If AG=0. then the system 1s in equilibrium.
d
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The continuous phase transitions are

Options :

1 % Fourth-order phase transitions

Third-order phase transitions

2. %

3 @ Second-order phase transitions
None of these

4. %
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According to Fermi-Dirac statistics, the number of ways 3 particles can be
distributed in 4 energy states are

Options :

3

1. %
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When the rotational absorption spectrum of a diatomic molecule with
equilibrium lines with spacing 20 cm™ then the position of first Stokes line in
the rotational Raman spectrum of a molecule 1s

Options :

1 % 100 cm’

120 cm’?

3 % 140 cm’!



60 cm’?
4.
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The natural line width of a spectral line in the emission spectrum of an
atomic state, with lifetime 10 nanoseconds, 1s of the order of

Options :

107 eV
1.4

10° eV

3 % 107 eV

, w107 eV
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If the energy of the first excited state of a rigid rotator is 1.5 meV. then the
third excited state energy (in meV) 1s

Options :
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Chemucal shifts are due to

Options:

electrons shielding

magnetic monlenium

nuclear ma gHETiC moiment



scalar coupling (J -coupling)
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The possible transitions in the presence of a weak magnetic field from
2P3n —2Si0 18

Options :

1.% 0
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Which of the following 1s the correct order of energies involved in the
molecular spectra?

Where E.. E,. E; and E. represent rotational. vibrational. translational and
electronic energies, respectively?

Options :

ET - Ei' - E“." s :EE

1. %
5 & E:>Eq:> Ei > By
;. % Ev>Er>Ee>E
4 % E.CE.<E;<E;
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The gyromagnetic ratio 1s the ratio of of a spinning charged

particle

Options :

Angular moment to lllﬂgIIETiC moment

potential energy to magnetic moment



3 magnetic moiment to ﬂllglllﬁl’ momentum

magnetic moment to potential energy
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For the normal Zeeman Effect. the selection rules are

Options :
AM;=0
1. %
5 AM=0 %1
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If B1> and By; represent the Emstein stimulated absorption and stimulated
emission coefficients. then the relation between them 1s

Options :

B12 <Bn
5 % B12 > Boi
3 ¢ B12= B

no relation

Question Number : 127 Question Id : 51714410173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The coherence length of a sodium yellow light (5893 x 10 m), in 1071°
pulse duration, is

Options :

1.8 1X 10 m

2>« 3x1027m

2x10%m
3. %



4x10%m
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A point in reciprocal space represents in real space 1s
Options :

a unit cell

a lattice point

3 @ a plane

4 % none of these
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Match the following

1) Monoclinic p) a=b=c¢c a=p=7+#90

11) Tetragonal q) azb#c a=p=7y=90

111) Rhombohedral 1) a#b#c a=p=90#vy

1v) Orthorhombic s) a=b#c a=p=y=90
Options :

P H—8 H— e
1 I q

, o lmstii—rdii—qr iv-p

- 1—qil—s: M—p: Iv—1

4 % 1—QU-r; lli—§; IV—p
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The second Brillouin zone range of k-values
Options :

from 0 to 2w/a

0 to -2n/a



3 % -2m/ato 2m/a

4 -TMato-2n/aand +n/a to +2m/a
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The drift velocity of free electrons with mobility of 1.5107 m*Vs in an
electric field strength of 0.5 V/m is

Options :

0.75 m/s
’I. )

5 % 3.0m/s

0.75x 102 m/s

3.0x 102
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If the Hall Effect coefficient is 3 cm®/c and carrier mobility is 3 cm’ /s then
the conductivity is

Options:

1 ¢ 1 S/m

0.1 S/m

3« 0.001S/m

0.0001 S/m
4. &

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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For HCP and FCC structures the atomic packing factors are

Options :

1 v 0.74 and 0.74

0.74 and 0.68
W



3 % 0.68 and 0.52

0.96 and 0.74
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The binding energy for a cooper pair 1s

Options :

leV

100 eV

3 v 107%eV

4 % 10%eV
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If X-ray beam of wavelength of 0.1 nm incident at an angle 30° diffracts in
the first order. then the separations of the sets of planes. in nm. is

Options:

. % 001

0.05

0.1

1.0
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If the number density of a free electron gas. in three dimensions, 1s increased
by eight times then its Fermi temperature

Options:

increases by a factor of 4
1. ¢

., Increases by a factor of 8

3 % decreases by a factor of 4



decreases by a factor of 8
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= 10K

1V ©

(7

10K

In the circuit shown . the output voltage Vo 1s equal to

Options:

e 10V

2.% IV



oV

411V
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Assertion: Quasicrystals form when certain molten alloys cool very slowly
Reason: Quasi-crystals have short-range as well as long-range order i their
arrangements

Options :

Both assertion and reason are incorrect.

The assertion and the reason are correct.

The assertion 1s not correct but the explanation of reason 1s correct.

the assertion as well as the reason are correct. but the reason is not the
4+ correct explanation of the assertion.
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The Majorona force is the force.

Options :

Space exchange
1.

spin exchange
2. % -

3 %  space-spin exchange

spin-spin exchange
4, ®
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The diameters of the atom and nucleus are of the order of

Options :

109 mand 10 m

108 mand 102 m



3 % 10 m and 10 m

4% 10°mand 10 m
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The half-life of a radioactive material 1s 24 days. If 8 g of this 1sotope 15
present mitially, then the amount remains after 72 days 1s

Options :

—
i =

[
i [=]
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Nuclei having the same number of neutrons and different mass number are called

Options :
1sobars

1. #

1SOMErs

1sotones

1sotopes
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A free neutron decays in to a proton. the decay products are an electron and

Options:

an antineutrino
1.9

a neutrino

a positron



pion
4. ®
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Nuclear forces have strengths in the order
where P stands for proton and N stands for neutron.

Options :

P-P>N-N>P-N

1. %
P-P<N-N<P-N
2. ®
, ¢ P-NSN-N>P-P
P-P=N-N=P-N
4, &
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The Yukawa potential is proportional to
Options :

—ar

ar
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The surface term in semi empirical formula 1s proportional to
where A 1s the mass number of the nucle1

Options :
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If m. my. and my are the masses of nucleus. neutron. and proton,
respectively. of ;X* nucleus then which of the following is correct?

Options :

m=Zmp,+ (A-Z) my

E
m=27Zmy+ (A-Z) mp
2. %
m = (A-Z) my + Z my
3. %
m< (A-Z) my +Z mp
4.
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Strangeness is conserved in
Options :

|« Strong interactions but not in weak imteractions

Weak interactions but not in strong interactions

2. #®
Both strong and weak interactions
3. %
None of the above 1s correct
4. %
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Nuclear Fission model can be explained using

Options:

Independent particle model

5> % Shell model



v liquid drop model

4 % Somerfield model
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A neutron 1s composed of
Options :

one up quark and two down quarks

an up quark and down antiquark

two up quarks and a down quark

strange quark and an anti-strange quark



